Honors Calculus

Keeper 3



DOMAIN OF FUNCTIONS p.6

Domain - the set of all possible x-values
* The denominator cannot be 0

* The number under a square (or even) root
cannot be negative

* You can’t take the log (or In) of a negative
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FIND THE DOMAIN OF THE FUNCTIONS:




FIND THE DOMAIN AND RANGE OF THE FUNCTIONS:
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9. f(x) = In(x* — 4x + 3)
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10. f(x) = logS(Zx?I?B) —
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11. f(x) = logz
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| f(x) = a number Parabola: f(x) = x2
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Domain: (-, )

Range: the number | :
g Domain: (-« , «) _ Domain: (-« , «)
Range: [0, =) Domain: [0, « ) Range: [0, x)
Range: [0, =)

Library Function Graphs
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Domain: (-, «) Domain: (-, ) Domain: (-, 0) U (0, =)
Range: (-, ») Range: (-, ») Range: (-« ,0) U (0, x)




